

تلف

$$y'' = rx' + r - 1 \Rightarrow y = \sqrt{rx^2 + rx - 1} \quad \text{---} \quad (1)$$

$$x \cos y = y \cos x \Rightarrow x = \frac{y}{r} \Rightarrow \frac{y}{r} \cos y = 0 \Rightarrow y = \frac{\pi}{r}, \dots$$

$$\frac{x+y}{r} = \sqrt{xy} \Rightarrow x+y - r\sqrt{xy} = (\sqrt{x} - \sqrt{y})^2 = 0 \Rightarrow \sqrt{x} = \sqrt{y} \Rightarrow y = x$$

$$y'' + ry = xy' + r \Rightarrow (y-x)(y'+r) = 0 \quad y'+r = 0$$

$$\Rightarrow y-x = 0 \Rightarrow y = x \quad \Rightarrow y' = -r \Rightarrow y = -rx + C$$

$$f(x) = \begin{cases} rx^2 - b & x \geq r \\ a + rx & -1 \leq x \leq r \\ rx^2 - b & x \leq -1 \end{cases} \quad \text{---} \quad (2)$$

$$\Rightarrow rx(r^2) - b = a + r(r) \quad 1A - b = a + r \Rightarrow a + b = 1r$$

$$f(x) = \sqrt{-x^2 - bx + a} \Rightarrow \text{ضرب در } x: \frac{c}{a}, \frac{a}{-1} = -a \quad (3)$$

$$-a = b \times a \quad a \neq 0 \Rightarrow b = -1 \quad \text{ضرب در } x: a + b = \frac{b}{-1}$$

$$a + b = -b \Rightarrow a + b = 1 \quad \begin{cases} a = r \\ b = -1 \end{cases}$$

$$y = \frac{r}{\sqrt{ax^2 + bx + c}} \Rightarrow D: (-\infty, r) \quad a = 0 \quad \text{---} \quad (4)$$

اول س

$$-bx + c > 0 \Rightarrow x > \frac{c}{b}$$

$$x < -\frac{c}{b} \Rightarrow -\frac{c}{b} = r \Rightarrow -rb = c$$

$$r(0) + (-rb) - r|b| = -\omega b$$

$$|x| - [x] \neq 0 \quad |x| \neq [x] \quad D: (0, +\infty) \quad (5)$$

$$\sqrt{x} + \sqrt{y} = 9 \Rightarrow \sqrt{y} = -\sqrt{x} + 9 \Rightarrow \quad (3)$$

$$x \geq 0 \text{ و } y \geq 0 \Rightarrow 9 - \sqrt{x} \geq 0 \Rightarrow 9 \geq \sqrt{x} \Rightarrow x \leq 81$$

$$\Rightarrow D_f = [0, +\infty) \cap (-\infty, 81] = [0, 81]$$

$$f(x) = \sqrt[n]{x^{n-1}} \Rightarrow x^{n-1} > 0 \Rightarrow x^{n-1} > 1 \Rightarrow x > \frac{1}{x} \quad (4)$$

$$x > 0, x \neq 1 \Rightarrow \sqrt[n]{x^{n-1}} > 1$$

$$\Rightarrow x^{n-1} > 1 \quad x^{n-1} > x \Rightarrow x > \frac{x}{x}$$

$$\Rightarrow x^{n-1} < 1 \quad x^{n-1} \leq x \Rightarrow x \leq \frac{x}{x}$$

$$D_f = \left(\frac{1}{x}, \frac{x}{x} \right] \cup (1, +\infty)$$

$$\sqrt[n]{x} = \frac{1}{x + \sqrt{x^2 - 1}} \Rightarrow x + \sqrt{x^2 - 1} = \frac{1}{\sqrt{x^2 - 1}} \Rightarrow \sqrt{x^2 - 1} = t \quad (5)$$

$$\sqrt{x^2 - 1} = -t \quad \text{و}$$

$$-t^2 + t + 1 = 0 \Rightarrow t^2 - t - 1 = 0$$

$$(t-2)(t+1)$$

$$\sqrt{x^2 - 1} = 2 \Rightarrow |x| = 2 \Rightarrow x = \pm 2 \quad t=2 \quad t=-1$$

$$\begin{array}{c} -2 \quad 2 \\ -1 \quad + \quad - \end{array}$$

$$D_f = (-2, 2)$$

$$y = \sqrt{\frac{x^2 + 2}{x+2}} + a \Rightarrow y = \sqrt{\frac{x^2 + ax + ab + 2}{x+2}} \Rightarrow y = \sqrt{\frac{x(x+a) + ab + 2}{x+2}} \quad (6)$$

$$a = -2 \Rightarrow y = \sqrt{\frac{-x^2 + 2}{x+2}} \Rightarrow [b = -2]$$

$$(2, +\infty)$$

$$y, \sqrt{f(n) - n + 1} \Rightarrow f(n) \geq n - 1 \Rightarrow \quad (1)$$

$$\textcircled{1} \quad \begin{matrix} \leftarrow \\ [n] \geq f \end{matrix} \quad 2n-1 \geq n-1 \Rightarrow n \geq \omega \quad \text{و} \quad n \geq \omega \Rightarrow n \geq \omega$$

$$\textcircled{2} \quad \begin{matrix} \leftarrow \\ [n] \leq f \end{matrix} \quad 2n+3 \geq n-1 \Rightarrow 3n \geq -\varepsilon \Rightarrow n \geq -\frac{\varepsilon}{3} \quad \text{و} \quad n < \omega$$

$$\text{عصره مربوط} \quad \left[-\frac{\varepsilon}{3}, \omega\right) \cup [\omega, +\infty) = \left[-\frac{\varepsilon}{3}, +\infty\right)$$

$$r \varepsilon n^3 + r^2 n^2 + 1 n n + 3, \quad 3(1 n n^3 + 1 n n^2 + 4 n + 1) \quad (4)$$

$$3(2n+1)^3, \quad \varepsilon n^2 + \varepsilon n + 1, \quad (2n+1)^2$$

$$\Rightarrow \frac{3(2n+1)^3}{((2n+1)^2)^2} \geq \frac{3(2n+1)^3}{(2n+1)^2} \geq \frac{3}{2n+1}$$

$$2n+1 \neq 0 \Rightarrow 2n \neq -1 \Rightarrow n \neq -\frac{1}{2} \quad \text{و} \quad \text{مستبعد است.}$$

$$\sqrt{1 - \log 2^{n-a}} \Rightarrow 2n-a \geq 0 \Rightarrow n \geq \frac{a}{2} \quad (5)$$

$$1 - \log 2^{n-a} \geq 0 \Rightarrow \log 2^{n-a} \leq 1 \Rightarrow$$

$$2n-a \leq 1 \Rightarrow 2n \leq 1+a \Rightarrow n \leq \frac{1+a}{2}$$

$$\left(\frac{a}{2}, \frac{1+a}{2}\right] \quad b \geq \frac{a}{2}, \quad c \geq \frac{1+a}{2}$$

$$c - b \geq \frac{1+a}{2} - \frac{a}{2} = \frac{1}{2} > 0$$